STALE

LC1 vlastni tiha 1.35 kN/m
pudovky 30 0.03x18= 0.54 1.35 0.73 kN/m?
malt. loze 40 0.04x18= 0.72
zaklop 25 0.025x5= 0.12
bednéni 15 0.015x5= 0.08
omitka na rakosovani 20 0.02x15= 0.30
LC2 strop stary 1 1.76 1.35 2.38 kN/m?
pudovky 30 0.03x18= 0.54 1.35 0.73 kN/m?
malt. loze 60 0.06x18= 1.08
zaklop 25 0.025x5= 012
bednéni 15 0.015x5= 0.08
omitka na rakosovani 20 0.02x15= 0.30
LC2 strop stary 2 212 1.35 2.86 kN/m?
pudovky 30 0.03x18= 0.54 1.35 0.73 KN/m?
malt. loze 30 0.03x18= 0.54
Skvara 70 0.07x9= 0.63
zaklop 25 0.025x5= 012
bednéni 15 0.015x5= 0.08
omitka na rakosovani 20 0.02x15= 0.30
LC2 strop stary 3 2.21 1.35 2.99 kN/m?
zaklop 25 0.025x5= 0.12 1.35 0.16 KN/m?
bednéni 15 0.015x5= 0.08
omitka na rakosovani 20 0.02x15= 0.30
LC2 strop stary 1,2,3 po odleh¢eni 0.50 1.35 0.68 kN/m?
0SB 22 0.022x7= 0.16 1.35 0.21 kN/m?
Isover T-P 200 0.2x1.48= 0.30
LC3 piritizeni 0.46 1.35 0.62 kN/m?
LC2 plech krytina 0.15 1.35 0.21 kN/m?
bednéni 0.024x5= 0.12
krokve 0.14x0.18x5= 0.13
LC2 stfecha 0.40 1.35 0.54 kN/m?
NAHODILE
LC4 uzitné - udrzba 0.75 1.5 1.13 kKN/m?



LCS

LC2

LC4

snih (snéh. mapa CHMU) s,= 0.56 kN/m? => 0.70 kN/m?
0 =29, Coe=1.2, 111= 0.8

snih 0.7x1.2x0.8= 0.68 1.5 1.01 kN/m?
zatézovaci plocha stfechy na 1 sloupek ( jednotrakt)
2x4.9x4.0= 39.2m?
stfecha 39.2x0.40= 15.68 1.35 21.17 kN
udrzba 39.2x0.75= 29.40 1.5 4410 kN



